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HOME SCIENCE
Paper — 11
Note : This paper contains fifty (50) objective type questions of two (2) marks each. All

questions are compulsory.

1. What is the primary reason for
blanching food ?
(A) Cleans the food
(B) Prevents pest infestation
(C) Inactivates enzymes in food
(D) Prevents food from drying

2.  RDA’s for Indian women are based
on reference woman who has
(A) Body weight 50 kg and height
1.40 m
(B) Body weight 55 kg and height
1.61 m
(C) Body weight 48 kg and height
1.56 m
(D) Body weight 52 kg and height
1.37 m

3. Which of the following is not a
management approach ?
(A) Classic
(B) System Approach
(C) Human Relation
(D) Double Entry System

4.  Which of the following holds the
bobbin in the sewing machine ?
(A) Feeddog
(B) Pressure foot
(C) Oscillating hook
(D) Thread take up lever

5.  Which of the following does not
represent Kasuti Embroidery ?
(A) Menthi (B) Aari
(C) Gavanti (D) Murgi

6.  Principle of operation of an electric
water heater is by
(A) Convection
(B) Radiation
(C) Conduction
(D) Induction
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10.

11.

12.

Sociometry is a tool to measure child’s
(A) Intelligence level

(B) Behaviour problems

(C) Relationship with peers

(D) Relationship with parents

DRDA is functioning at
(A) District level

(B) Block level

(C) Village level

(D) State level

ABC of Poster

(A) Attractive, Brief, Clear
(B) Attention, Brief, Clarity
(C) Attractive, Bold, Clear

(D) Attractive, Bold, Colourful

Type I error is made when

(A) True null hypothesis is rejected
(B) True null hypothesis is accepted
(C) False null hypothesis is rejected
(D) False null hypothesis is accepted

Which of the following foods are rich
in omega 3 fatty acids ?

(a) Lard (b) Butter
(c) Fatty fish (d) Olive oil
(e) Mustard seeds () Walnut
Codes :

(A) (), (b), ()

B) (), (o), (H

(©) (e), (D, (b)

D) @, (), (d)

Which of the following micro
organisms  cause food  borne
intoxication ?

(a) Staphylococcus aureus

(b) E.coli

(¢) Clostridium botulinum

(d) Listeria monocytogenes

(e) Salmonella

Codes :

(A) (a)and (b) (B) (a)and (c)
(C) (c)and(d) (D) (d)and (e)
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1. W UK % el &I SR
ERIR
(A) T USTY T HIE HT € |
(B) 9T STE UG i Wk & |
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(D) T 9SHET o Ik & § AehaT & |

2.  9RAE fE™ & o RDA’s (3TREITH)
39 G99 fert ot st & foraent
(A) IRRE oo 50 fHm. @R dare
1.40 9. € |
RN o 55 fou 2 e
1.61 9L & |
RN o= 48 fhmm. 3R derg
1.56 W. € |
RN o 52 fmum @i were
137 9. € 1

3. fefafea & € =9 91 ye=e surm =@l
g2
(A) FeaE
(B) oHeET SUTH
(C) AT T
(D) S Ugl fawen
4. T B FAA A SIS HaT oI ST & 2
(A) I A
(B) R e
(C) IIoma9H §F

(D) 4T & ST dTeT 3TieTsh (TieR)

(B)
©
(D)

5. ®gal #gle B FEeEd § 8 @
frefa et Far g 2

(A) ¥l (B) @I
(C) Ward (D) Wl
6. faotcir & areT geX & v & fagr
FAE 2
(A) Haed (B) Tafmor
(C) =e (D) IR
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A St |
ST T |

(A) FEEX §
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AT, foF T W HE FETE 2
(A) FRITTR W (B) @S TR W
(C) TR W (D) THER T
URET T ABC (Tl EL) &

HYT bl

(A) e, S, foeraT

(B) 373M, S, FAaN!
(C) 3efd, Aleg, R
(D) 3FfFea, aies, FoRGA

. TRT TR (JFfe) T s €, 5=

(A) T I MFHCUAT T STATHRAT
(B) T I WIEFHIT i TR
(C) W™ I UEhedT &l

(D) T I WTSRHeIT i TBHRAT

ffafea o 9 & J1 ST U= ST
3 o7 3TFA W WX € 2
Ll
C /
‘ &
(e) w=&i (f) sTERe
. T
(A) (a) (b) (c)
B) (c) (e) ()
(C) () () (b)
(D) (B (c) (d)
ffefad gem Sial & & %9 91 @er
T S ST / TR Seo HRAT § 2
(a) TWHEARHT FRITT
(b) 3 FE
(c) TAMZread g
(d) Wﬁmﬁmﬁw
(e) e
&<
(A) (@) 3R (b) (B) (a) 3 (c)
©) (0@ (D) (d) &R (e)
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13.

14.

15.

16.

Which of the following equipments
are not used in the kitchen ?

(a) Oven (b) Cooking
range

(c) Tally machine (d) Baine marie

(e) Blender (f) Potato
peeler

Codes :

(A) (a)and(d)
(B) (a)and (c)
(C) (c)and (d)
(D) (e) and (f)

Correct layouts of unidirectional
fabrics for garment cutting are

(1) Crosswise fold

(i)) Lengthwise fold

(ii1)) Double fold

(iv) Open

Codes :

(A) (1), (11) and (ii1) are correct.

(B) (i1), (ii1) and (iv) are correct.
(C) (i), (ii1) and (iv) are correct.

), iii) and ¥
(D) (i), (i1) and (iv) are correct.

Following are novelty yarns.

(1) Crepe yarn

(1) Bouclé yarn

(iii) Slub yarn

(iv) Flock yarn

Codes : o

(A) (i), (i1) and (iv) are correct.
(B) (1), (111) and (iv) are correct.
(C) (i), (i1) and (iii) are correct.
(D) (i1), (ii1) and (iv) are correct.

Components of immplementing are
(i)  Adjusting

(i) Facilitating

(ii1) Controlling

(iv) Checking

Codes :

(A) (i) and (iii) are correct.

(B) (ii) and (iii) are correct.

(C) (i1) and (iv) are correct.

(D) (iii) and (iv) are correct.
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17.

18.

19.

20.

Language development in children is
promoted through :

(1)  Story telling

(i)) Conversation

(iii) Social participation

(iv) Solitary play

Codes :

(A) (i) and (iii) are correct.

(B) (ii) and (iii) are correct.

(C) (1), (i1) and (iii) are correct.
(D) (i1), (ii1) and (iv) are correct.

Aspects of a Good Lesson Plan

(i) Objectives

(1)) Teacher’s Activities

(i) Learning Experiences

(iv) Teaching aids

(v) Appraisal

Codes :

(A) (i), (i11), (iv) and (v) are correct.
(B) (ii), (iii), (iv) and (v) are correct.
(C) (1), (iv) and (v) are correct.

(D) All of the above.

Which among the following are the
community services offered in the
interest of the public ?

(i)  Protection

(1) Transport

(111) Social

(iv) Communication

Codes :

(A) (i), (i1) and (iii) are correct.

(B) (i1), (ii1) and (iv) are correct.
(C) (1), (1) and (iv) are correct.

(D) (1), (111) and (iv) are correct.

The variance is

(i)  directly proportional to the
average  squared  difference
between all pairs of observations.

(i1)) smallest when calculated from
the mean.

(ii1) denoted by symbol o

(iv) described as the dispersion of
the distribution

Codes :

(A) (i), (1) and (iv) are correct.

(B) (i), (i1) and (iii) are correct.

(C) (i), (ii1) and (iv) are correct.

(D) All are correct.
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13.

14.

15.

16.

Tefeiad o 9 i T STUT T@E W

T 39T Tl fohT S € 2 .
(a) 3faA (b) FfET I
(c) ot HeiA (d) ==
(e) =isT (f) Tt der
R‘.

(A) (a) 3R (d)
(B) (a) 3R (c)
(©) (c) 3R (d)
(D) (o) 3 (f)

TR W B & oTd TG HUST
Hggf IS %‘ :

(i)  3Ter Hs

(ii) g § He

(iil) ST X% T AT

(iv) et

E T

(A) (i), (ii) 3 (iii) T & |

(B) (i), (iii) 3 (iv) W & |

(€) (i), (iii) 3R (iv) T € |

(D) (i), (ii) 3R (iv) T & | ‘&

FrfetiEe Tai= foheT & ga/amt €
(i) TTd
(i) fepet g
(iii) T (ThITad) g

(iv) el ga

E T

(A) (i), (ii) 3 (iv) T € |
B) (i), (iii) R (iv) T E |
(©) (i), (ii) 3 (iii) T E |
(D) (i), (iii) 3 (iv) W& |

feraTaaT & WEeHh €

(i) TS AT

(i) He9 T

(i) Tt e

(iv) = T

E T

(A) (i) 3 (iii) T € |

(B) (i) 3R (iii) W& € |
(C) (i) 3 (iv) W& |
(D) (iii) 3R (iv) T T |
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18.

19.

20.

T | 9T foerg ol feEes "reEw 9
Tra fgar ST € 2

() TR g R

(i) T §R

(iil) QTSR YRR §RT

(iv) THeT T §RI

%<

(A) (i) 3R (iii) T & |

(B) (i) 3R (iii) @& € |

(C) (i), (ii) 3 (iii) W& & |
(D) (i), (iii) 3 (iv) T € |
STH U1S AT & Y8e] ¢

(i) =

(i) eTemash @i Tttt

(iii) ATy T

(iv) AT FerEsh ATl

(v) Heae

E T

(A) (i), (iii), (iv) 3T (v) T T |
(B) (i), (iii), (iv) 3R (v) W& & |
(€) (i), (iv) 3T (v) T & |
(D) RIS Tt

frfertad & @ i g qegEias Jan

SR & fed & Wqd Sl STl € 2

() G (i) uRaEd

(iii) 9@ (iv) ¥9R

E 4

(A) (i), (ii) 3T (iii) T E |

(B) (i), (iii) 3T (iv) T € |

(©) (), (ii) 3 (iv) W & |

(D) (i), (iii) R (iv) T E |

UST .

(i) omEcsAl & @l FHl & "
AT THR FR T G
I I & |

(i) HreT § 9o R W gEd Sl
BATE |

(iii) o Toe gRY Tehe fopa ST € |

(iv) famor @) & feomm =t

FATE |

TN
(A) (i), (ii) R (iv) T |
B) (i), (ii) 3 (iii) T € |
(C) (i), (iii) 3 (iv) W& |
(D) W WEE |
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21. Assertion (A): Pasteurization in
milk is done to destroy the
microbes.

Reason (R) : It is tested for the
presence of lactic acid in milk.

Codes :

(A) Both (A) and (R) are false.

(B) Both (A) and (R) are true.

(C) (A)is true but (R) is false.

(D) (A) is false but (R) is true.

22. Assertion (A): Acute Renal Failure
means the kidneys have failed
suddenly.

Reason (R) : Various toxins or
severe blood loss or trauma
affect kidney functioning.

Codes :

(A) (A)is false and (R) is true.

(B) Both (A) and (R) are true.

(C) Both (A) and (R) are false.

(D) (A)is true and (R) is false.

23. Assertion (A): Invoice is  a
document that comes with
supplies.

Reason (R) : Cash payment has to
be made on the basis of it.

Codes : )

(A) (A)and (R) are true.

(B) (A) and (R) are false.

(C) (R)istrue, (A) is false.

(D) (A)is true, (R) is false.

24. Assertion (A): Both garment bias
and true bias can be used for
finishing necklines.

Reason (R) : Both have
amount of stretch.

Codes :

(A) Both (A) and (R) are false.

(B) (A)is true and (R) is false.

(C) Both (A) and (R) are true.

(D) (A)is false and (R) is true.
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25.

26.

27.

28.

Assertion (A): Cross dyeing and
union dyeing are same.

Reason (R) : Both may produce
multicoloured effects.

Codes :

(A) Both (A) and (R) are false.

(B) (A)is true and (R) is false.

(C) Both (A) and (R) are true.

(D) (A)is false and (R) is true.

Assertion (A): Standing in a static
posture is fatiguing.

Reason (R) : Blood circulation is
affected in the extremities
while standing for work.

Codes :

(A) (A)is false but (R) is true.

(B) (A)is true and (R) is false.

(C) Both (A) and (R) are true, but (R)
1s not the complete explanation.

(D) Both (A) and (R) are false.

Assertion (A): Self-concept is an
image of a person. It is the way
one perceives oneself, one’s
abilities and limitations.

Reason (R) : Self-concept is the
understanding of the self, in
comparison to the past self,
without social comparison.

Codes :

(A) Both (A) and (R) are correct.

(B) (R)is correct and (A) is wrong.

(C) (A)is correct and (R) is wrong.

(D) Both (A) and (R) are wrong.

Assertion (A): Home is a place for
development of both sexes
through equal opportunities.

Reason (R) : The personal and
professional development of
both sexes is not possible
within home.

Codes :

(A) Both (A) and (R) are true.

(B) (A) is false and (R) is true.

(C) (A)is true, but (R) is false.

(D) Both (A) and (R) are false.
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21.

22.

23.

24.

AMHAT(A) : TU B UL
T/ S @ A wE %
o fepr ST © |

HIOT (R) : T9 A oifded ufag @i
Suferfa o ford o weaor fmar
SEAE |

R.

(A) (A) 3R (R) Il A& |

(B) (A) 3R (R) i ¥ € |

(C) (A)FF & WA (R) AT |

(D) (A) AT, W (R)FA T |

AR (A) : T % v &
31l & foh T]T A ST T HAl
IT AT |

RO (R) : fafa= Siafow ar st
T B AT AT T8 B B HA
1 &THT T T il & |

E 4

(A) (A)FEIE, W (R) T |

(B) (A) &R (R)FHI & & |

(C) (A) 3R (R) I 3G € |

(D) (A) T s =g (R) sy | &

afirpe (A) : doh af g
TS FEA (WEAES) o 61 A € |

FHROT (R) : THH R W TH%
T AT BT § |

&<

(A) (A) &R (R) I &I E |

(B) (A) 3R (R) I 3 |

(C) (R)FAE, (A) IFTAT |

(D) (A)FAE (R) FTAT |

AT (A) @ BE W T W A
3R dfash S AT B TA &
IR & T SwE feer Sm
THATE |

WU (R)

BT E |

: I A TH SE aF

%
(A) (A) 3R (R) T e €
(B) (A)T™ ¢ 3R (R) e e |
(C) (A) AR (R)IAFIE |

(D) (A) e 3R (R)TAE |
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26.

27.

28.

s (A) : fafw g o9
AN T T S & B
HROT (R) : I Sgod w9 E
IO H GHhd & |

ETE

(A) (A) 3 (R) T e €
(B) (A)¥A & 3R (R) =g |
(C) (A) 3R (R)SHI FAE |

(D) (A) T 3R (R)TFE |

Afipe (A) : S g5 § wE @
T S AT & |

FRO (R) : FEH oA @S @A &
TES &Y Utel 9 o SERoT yefed
TATE |

E

(A) (A) e, ™= (R) TT & |

(B) (A)¥& T 3R (R) W= g |

(©) (A) ¥R (R) M ¥4 & W] (R)
T TR L & |

(D) (A) 3R (R) 31 frean & |

AUHUA (A) : ICH-YROT AT T
foa & 9 T 9 9% o1 o7 i,
A ArEre X e
Teqd T A7 SEAT & |

HROT (R)  : 3TCH-gRON,  QEISTS
Tl % SR, Age & Bl o H
GEIT) @ HAYE |

E

(A) (AW (R) A HIE |

(B) (R) W&l ¢, W (A) T & |

(C) (A) W & (R) T & |

(D) (A) 3R (R) S Tofel € |

ATHBT (A) : W, GAA I %
S AT fort o forepe s = E

FRO (R) : T ol & AR
T AT (G T & =T
T TR |

E

(A) (A) 3R (R)SHI & € |

(B) (A)fFea e 3R (R) T T |

(C) (A)TIE W= (R) e |

(D) (A) 3R (R) Tl e €
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29.

30.

31.

32.

Assertion (A): Electronic media is
a mass media.

Reason (R) : All mass media are
not electronic media.

Codes :

(A) (A)is correct, but (R) is wrong.

(B) Both (A) and (R) are wrong.

(C) Both (A) and (R) are correct.

(D) (A)is wrong, but (R) is correct.

Assertion (A): The existence of a
correlation between two
variables can be shown to exist
only when there is variability.

Reason (R) : If one of the
variables is a constant, with no
variability, then the correlation
coefficient is not even defined.

Codes :

(A) Both (A) & (R) are true and (R)
is the correct explanation.

(B) Both (A) & (R) are not true.

(C) (A)istrue & (R) is false.

(D) (A)is false & (R) is true.

Give the sequence of stages of sugar
cookery in making brittle.

(a) Soft ball A k

(b)  Soft crack

(c) Hard crack

(d) Two thread

(e) Firm ball

Codes :

(A)  (a), (b), (c), (e), (d)

(B) (d), (a), (e), (b), (c)

(©)  (e), (d), (¢), (b), (a)

(D) (b), (d), (e), (a), (¢)

For a successful outcome of the
nutrition ~ programme  for  the
community, state the sequential order of
steps to be taken.

(a) Implementation

(b) Mobilising resources

(c) Monitoring and evaluation

(d) Prioritise problem

(e) Identify target

(f)  Setting objectives

Codes :

(A) (o), (d), (), (b), (a), (c)

B) (a), (d), (&), (), (b), (c)

(€) (@), (e), (1), (a), (b), ()

D) (d), (@), (e), (b), (c), (a)
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33.

34.

3S.

36.

Give the correct sequence of
managerial functions listed below :
(a) Reporting

(b) Staffing

(c) Planning

(d) Organising

(e) Co-ordinating

(f) Budgeting

(g) Directing

Codes :

(A) (), (d), (b), (1), (2), (), (e)
(B)  (c), (d), (b), (2), (¢), (), ()
(©)  (b), (d), (), (c), (a), (2), (e)
(D) (e), (&) (), (D), (b), (a), (c)

Give the correct sequence for
applying the following in a garment :
(a) Interlining

(b) Interfacing

(¢) Underlining

(d) Lining

Codes :

(A) (), (b), (), (d)

(B) (b), (¢), (a), (d)

(©) (), (d), (b), (a)

(D) (d), (a), (¢), (b)

Give the correct sequence of
removing lipstick stain from fabric.
(a) Wash in hot soapy water.

(b) Sponge with a grease solvent.
(c) Bleach the stain.

(d) Rinse in hot water and dry in sun.
Codes :

(A) (), (b), (), (d)

(B) (d), (¢), (b), (a)

(©) (), (d), (a), (b)

(D) (b), (a), (0), (d)

How are colours classified ? Indicate

the correct sequence.

(A) Secondary, primary,
intermediate, tertiary, quaternary

(B) Binary, primary, intermediate,
quaternary, tertiary

(C) Primary, secondary, intermediate,
tertiary, quarternary

(D) Binary, secondary, intermediate,
tertiary, quaternary

D-12-12
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29.

30.

31.

32.

ANTHAT (A) : ToFIFE Hitear S
(@ o) Hifear ¥ |

HROT (R) : T SHEOR ATy
TR Hifear el el € |

%

(A) (A)TE g, W= (R) Tt & |

(B) (A) 3R (R) 3T oI & |

(C) (A) 3R (R) I @&t € |

(D) (A) 7o &, g (R) W& € |

AMHAT(A) : T W H G
TEqwY i
foem= IoiE ST ogedl § S
fafaeaar & |

HFROT(R) : 3% W A ¥ U
@ TR TEawy TUlis S AT
& T&l ol ST & |

T

(A) (A) 3T (R) IHT ¥F & 3% (R)
TE T € |

(B) (A) 3R (R) IHI 9T &I & |
(C) (A)TAT AT (R) @A T |
(D) (A)FFIE 3R (R)THE |

i
Rt SR T S T &) el N

T Tl A T JIST
(a) W (b) WU HH
() TEHH () TIT R AR
(e) Y SieT
F
(A) (), (b), (c), (e), (d)
(B) (d), (a), (), (b), (c)
(C) (), (d), (c), (b), (a)
(D) (b), (d), (e), (a), (c)
TREE & o U9 SEEH % dEA
RO % ford, TR ST aTet Ul
ST IehiHeh S FaTed
(a) fopamem
Eb)) T S
¢) AT qen gedis
(d) T T UTHRIHIT
(e) T H wEAH
() e Fuifa s
E T
(A) (), (d), (), (b), (a), (c)
(B) (a), (d), (e), (), (b), (c)
(C) (d), (e), (), (a), (b), (c)
(D) (d), (1), (e), (b), (¢), (a)

D-12-12

33.

34.

3S.

36.

T 53 T Y=g T S Wel 3
a?ns?i :

() TS

(b) HHTRI IS HLAI

(c) T

(d) drfed &

(e) T HET

() S AT

(g) TRwrs

(A)  (c), (d), (b), (), (2), (a), (e)
(B)  (c), (d), (b), (2), (e), (a), ()
(C)  (b), (d), (), (c), (a), (g), (e)
(D) (e), (), (d), (), (b), (a), (c)

iy # fefafad s e & ol 9@l
EELICRIERE

() ECAGIHED]

(b) TR

(c) T STeATgHT

(d) AT

£

A (), (b), (©), (d)

(B) (b), (c), (a), (d)
(C)  (c), (d), (b), (a)
(D) (d), (a), (c), (b)

Fug ¥ fomfes o1 e e =1 @@t
3TTEHT TS

(a) T QM STeT & ST

(b) T factmae & @ Tt s
(c) o i sefrer e

(d) TH A | A FEH g9 § @

(A) (a), (b), (c), (d)
(B)  (d), (c), (b), (a)
(C) (), (d), (a), (b)
(D) (b)), (a), (c), (d)

TNt 59 TR ailiha oA ST & 2

T 3THH AT

(A) Tgdraes @ Tion), wefies, meed,

(B) Fm, wafH®, WHeged, aqeE,
RIRED

(C) wte, fgciaes (AT TiioT), HeaaT,
Jeitash, g

(D) T, fedaw @ wion, e,
eitereh, =qes

Paper-11
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37. Arrange constituent processes of
observational learning in correct
sequence :

(1)  Production
(i)
(iii)) Retention

(iv) Attention

Codes :

(A) (i), (iv), (1) and (ii)
(B) (v), (iii), (i) and (ii)
(C) (i), (1), (ii1) and (iv)
(D) (1), (i1), (ii1) and (iv)

Motivation

38. The sequential order of Extension
Educational Process is

(i)  Objectives
(i)
(iii)
(iv)
(v) Evaluation
Codes :

A) (i), (i), (i), (iv), (v)
(B) (i), (i), (1), (v), (iv)
(©) (i), (1), (i1), (v), (iv)
D) (), (i), (i1), (iv), (v)

Teaching
Situation
Reconsideration

= r

39. Panchayati Raj Institution in the
hierarchy of governance from
grassroots upwards is

(a) Gram Sabha

(b) Block Panchayat
(c) District Panchayat
(d) Gram Panchayat
Codes :

(A) (¢, (b), (d), (a)
(B) (d), (a), (b), (¢)
(©) (), (), (d), ()
(D) (a), (d), (b), ()

&

40.

41.

42.

Arrange the correct sequence of steps
in Research.

(1) Review of Literature

(i1)) Objectives

(ii1)) Rationale

(iv) Methodology

(v) Interpretation

(vi) Results

Codes : -
(A) (), (ii1), (iv), (1), (vi), (V)
B) (i), (i1), (1), (iv), (vi), (V)
(©) (), (i), (i1), (iv), (), (Vi)
D) (1), (1), (@), (iid), (v), (Vi)

Match the foods in List — I with its

_ rich nutrients in List —1II :

ist— 1"/ List — IT

Food Nutrients
(a)f Papaya (1) Iron
( Orange (i) Calcium
@€) Dates (iii) Vitamin C
@ " Ragi (iv) Vitamin A
Codes :

(@ () (¢ (@
A) @) @) @) (iv)

B) @) i) @) (@)
© (v) i) (@ (i)
D) i) () @G@v) (@)

Match the following biochemical tests
in List — I to the diseases in List —II :

List—1I List —1I
(Biochemical (Disease)
Tests)
(a) Creatinine (i) Hepatic

(b) Bilirubin (i1)) Coronary

(c) T4T, (i11) Kidney
(d LDL (iv) Thyroid
Codes :

(@ () (¢ (d
(A) @) (@) @Gv) (@)
B) @) @ @Gv) ()

© Gv) @) () ()
D) @) @) @ (@Gv)
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37. TR M I GEeH UihATST
T Tel A T foafau
(i) 3O
(i) SeRom
(i) wifeTerRor
(iv) &=
BT
(A)
B)
©
(D)

(iii), (iv), (i) 3R (ii)
(iv), (iii), (i) 3R (ii)
(i), (i), (iii) 3R (iv)
@), (ii), (iii) 3R (iv)

38. UOR VeI UshAT T SRS hH € :
(i) ==
(i) AT
(iii) eIt
(iv) T foem
(V) A
TN

(=N

(A)
(B)
©
(D)

(i), (@), (iii), (iv), (V)
(iit), (i1), (1), (v), (iv)
(iit), (1), (i1), (v), (iv)
(1), (iid), (ii), (iv), (v)

39, S WHRO R @ SR W AT A F
;ﬁmamﬁﬁamﬁwﬁwaﬁwm
(a) UMW\
(b) e TERE
(c) ToTem v=ma
(d) T dEEd
FHT:

(=N

(A)
(B)
©
(D)

(¢), (b), (d), (2)
(d), (@), (b), (¢)
(a), (b), (d), (¢)
(2), (d), (b), (¢)

&

40. 3T 6 UihaT i W 5 | fafEu
(i) w1 gARteTor
(i) ==
(ili) TR
(iv) & g
(v) &=
(vi) R
&<
(A)
(B)
©)

(ii), (iii), (iv), (1), (vi), (V)
(iit), (i1), (1), (iv), (vi), (V)
(1), (iii), (i), (iv), (v), (vi)

(D) (i), (i), (iv), (iid), (v), (Vi)
41. T — 19 T T e et g — 1
53 T dive e & T gAferd Y
1 Na=-Ny ) el — 11
5 ‘mv; Y& T

(a) | uder () ©iE

(b T (i) HeATeTT
? (iii) faat=-C

(D (iv) Toa=-A

R.

(@ () (¢ (@
A) (@) @G (i) (Qv)
B) (i) (i) @v) (@)
(©) (v) @) @@ ()
(D) (i) () (@Gv) ()
42. A — 1 e Sfas W@ wieor
T gt — [1 H I o T AT hiro

=t - 1 =t - 11
GIEERE IR @)
TfeTom)
(a) fopufcF (i) =FE
(b) faferefam (i) PRI (&)
(©) T5T, (i) TS
(d LDL (iv) orize
T
(@ (b)) (© (d)
(A) () @) @Gv) @)
B) (@) (@ (@v) (i)
(©) (@v) (i) @G) (@)

D) @) (i) @ (Gv)
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43. Match the records in List — I with the
Department in List — IT where they are

used :
List— I List — 11
(Records) (Department)
(a) Stock book (i) Purchase
(b) KOT (i) Personnel
(c) Payroll (i1i1)) Store
record
(d) Specifications (iv) Dining
room
Codes :
(@ () (¢ (@
(A) () (@) (i) (@v)

B) (i) Gv) @) (@)
© @) (i) @ Gv)
D) Gv) @) () (@)

44, Match List — I with List — 11 :

List— I Llstul
(a) Diagonal (1) rmanent
basting £\ch
(b) Hemming . ; (i) Finctional

} N well as
-f"i_,.v' . L ¥ _ decorative
) Herring bone"\*} Temporary
_ stitch , stitch
(d) Buttonhole / (iv) Decorative
(Eﬁtch stitch
Codes :
(@ () (¢ (@
@A) (@) av) (i) (i)
B) @G (i) (1) ()

© Gi) @@ (@Gv) (D)
(D) (Gv) (i) () ()

N

45.

46.

Match List — I with List — 1T :
List—1I List — 11
(a) Wale (1) Series of loops

extending
Crosswise
(b) Weft (i1) Long1tud1nal
yarns
(c) Warp (111) Crogmg
A ‘yams
(d) Courses (1‘ Coloumrr f
,‘ n'.\ 4oqps parallel
F ‘ 4 .\ t§'length
Codes :
(@ () (¢ (@
A O @v) () (i)

B () @@ >Gv) (i)
© (Gv) (i) () (@)
D) (i) () @ Gv)

Match List — I with List — 11 :

List -1 List — 11
(a) Orientation (1) Grouping

of the

building

(b) Disposition (i1)) Roominess

of rooms
(c) Personal (1i1) Aspect
protection

(d) Spaciousness (iv) Privacy

Codes :
@ O (© @
A) (@ @Gy (@) (@v)

®) (@v) () (i) ()
© Gi) @@ (@Gv) (i)
D) Gv) () (@ (i)
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43. g - 19 @ e o gt - 119 2 45. It — 1 g — [1 % 91 GAferd 1

T ferseit 3 e gfere R - . o
T -1 et — 11 (a) 3 () oz o
F=ie) (=) et 5 s

() ®Fa W /(i) @R (b) IR/ (i) oEEEHEm
&Ieh gh T <

(b) M (i) hiiEe () amt/ (iii) T %

(c) aaq%@(& (i) er” arr 1) - ‘}
) et (d) wifew (i" T

(d) fafee (iv) @™ - wﬁﬁwﬁiw

T <14
& A F_ "

%< e
(@ () (¢ (@ @ O (@© @

A) @) (@G @) @(Qv) A () (@v) (i) (i)

B) (i) @Gv) @) (@) (B) (i) (i) (@v) (iii)

© @) @) @ (@av) (©) (v) (i) Gi) (@)

D) (v) (i) (i) (@) g O (i) () @ v

44, T — L — 115 T 5 46, T 1% 11 T
JORMIIPS | iy LR

@) e w= (i‘ b i (a) $WRA  H (1) TS

s L | ‘ ST

q'a)-}f{'lﬂ } (ii) mﬁ-ww

(b) FRI H (ii) Teromerar
c) %Fmaﬁ )) ST et
(c) AR T (iii) &7
(d) ‘g»‘raa?ﬂ ' (iv) TeihRI et (d) Tomamor (iv) Wi
T
(@ () (¢ (d @ O (@© @
A) @) @Gv) (i) (i) A) (@ (G (@) (@av)
B) @) i) @ (@av) B) av) (@) (i) (1)
(© (i) (@ (@Gv) (i) © @) (@ @Gv) ()
(D) @v) (i) @) @) D) @v) @) @ (i)
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47. Match the items of List — I with

List—1I:
List—1 List — I1
(a) First (1) Albert
menstruation Bandura
(b) Authoritative  (ii) Balwadis
parenting and day

care centres

(c) Observational (iii) Spermache

learning
(d) ICCW (iv) Democratic
parenting
(v) Menarche
(vi) Permissive
parenting
Codes :
(@ (b) (c) (d)

Ay v vy @ >
®) (i) @ @G (1v)
© @Gv) () @ (i)
@ @ v G @

48. Match List — I with List— 11 ;

'§

List -1 {_4 t—1I
(a) Personal A
letter ) vigual aid
(b) Method (i) Mass
demonstrati contact
<« ) - 2 method
6:) Television (1) Individual
\ contact
:. v method
(d) fﬁmpaign ) (iv) Group contact
method
Codes :
(@ () (¢ (@
A) () @) @) (@Gv)

B) @Gv) @@ i) (i)
© @) (i) @Gv) ()
(D) i) Gv) (@ (i)

49. Match the following in List — I with

List—1I:
List — I List — 1T
(a) Use of (i) Parker
goods and
services
(b) Handling (ii) Entrepreneurship
money .
(c) Income (iii) Standardiof
generation living )
(d) Values (iv), Budget /
Codes :

(@ () (c) (d)
A) Gi) (v (i) )
B) @@ @y (i) (iv)
©) (i) () Gv) (i)
(D) (@Gv) () (@G1) (1)
Match the method of research tools

from List — I to List — I :
List—1 List — 11
(a)f A planned (1) Focus Group

methodlcal Discussion

1ng the
‘ subject or
I situation

f'(b) The opinion
of subjects in
group are
observed and
noted by
researcher

(c) A document
that contains a
set of
questions.

(d) Asetof
structured
questions in
which responses
are recorded by
researcher

Codes :

(@ (b) (c) (d)

A) @) (@v) (@) (i)

B) (1) (i) (@v) (i)

(C) (i) (@1 (@v) (i)

(D) @G @) (@v) (i)

(i1) Interview

(ii1) Observation

(iv) Questionnaire
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47. g — 1 gEt — 1 % 91 gAferd e

48.

T -1 T — 11
(a) TEel TREEART /(i) 3Toae Sgd
T TSS9
(b) STeHERYOT (i) SreTaTer Te
AT TH B

(c) STFAIH T (i) ¥ & Wae

(d) e T,  (iv) ABAT=TH
STTTeRaT

(v) HFRE

(vi) TR
AT

E T
(@ (b) () (d)
@A) v @v) @) >
B) i) (@) () (i)
(©) Gv) @) (1) (i)
D) W (v G 0 &

@—Iﬁgﬁ—ll%wgﬂﬁﬁﬁ-
&=t - 1 :,?@H
(a) AT 95 (1‘
ferdeperet
J Jret
“(b)_fafy ‘E‘S‘h (i) S T
faf
c) é?rﬁ%lt-ﬂ (iii) Bm%a s
(d) ﬁ%ﬂ?ﬂ j (iv) WW%&J
@ ® ( @
(A @) ) @O @v)

B @Gv) @@ i) (i)
© @) (i) @Gv) ()
D) (i) Gv) @ (D)

[

49. g — [ At — 1 % 91 GAferd e
e -1 e - 10
(a) TGS T (1) R
Hare  H
ST
(b) T FH T
HT T
(c) 3ma g
(d) 74
&<
(@ (b) (c) (d)
(A) (@) @v) (G (@)
B) @ @) @ai) (iv)
© @) @ (@v) (i)
(D) (@v) (@) G) (@)
g — [ H 53 T Sushon o1 get — [ H
3t ugfaat 9 fger i
e -1 = - 10
@) fowa, = ferfa (i) %ﬁa

e Trfesh =
%ﬁ%{oﬁo‘
/ST |

(b) wemelf U A (ii) QR
o e &
foam &t
TSI I
& 3T e T
g1
(c) T o 19y (iii) 3TaceA
[ % e &
g1
(d) GERTa oot &1 (iv) TeATeet

TH Ty e
Rl ST AR

FATE |

(i) S

(iii) ST 3
() 72\, 5

@ () (© @
Ay @O Gv) () (i)
B @ ai) (@Gv) (D)
© i) @@ (@Gv) (i)
D) @) @ @Gv) (i)
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